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a. (5%) A consumer’s utility functionis U =xy, where x and y denote the amounts of two goods.
Please specify the consumer’s Marshallian demand curve for good x if the consumer’s income equals
200.
b. (5%) Based on the demand curve from (a), find the price elasticity of demand for x when its price
equals 5.
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a. (5%, 5%) In a competitive market, if firm entry is limited owing to some factors, what is a firm’s long
run economic profit and business (accounting) profit in this market? Positive, zero or negative? Why?

b. (10%) The rice market is competitive and the market price is low, so the government decides to
provide price support. In practice, the government promises to buy a fixed amount of rice for each acre of]
land planting rice with a price higher than the market price. If the fixed amount the government
purchases for each acre of land is less than the output each acre of land can grow, what are the effects of
this price support on the market supply curve of rice and the market equilibrium price?
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George and Mary consume pizza, Z, and coca, C. George’s utility function is
U, =(Z)*(C;)*®, and Mary’s is U,, =(Z,,)*(C,))"™P, where 0<a,f <1.Their endowments are
Z;=10, C; =20, Z,, =20, C,, =10.
a. (10%) What is the formula for the contract curve?
b. (10%) What are the competitive equilibrium prices if a = §7?






